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PRO ELECTRON SERIES (Continued) ' . g
Vees® lces” H VBE( -
CES' CES FE BE(SAT -
Type Case | Vemo Vgls,o V(EVB,° icB0 o VeB hse Ic o VcE vc'ﬂf’,“’ & VBE(ON)‘! e lc f:,?, (,,,:;z, N (':;, Test Procoss )
No. Style {v) Mi Mi (nA) v) 1 kHz* {mA} (A"} " {v) {mA) Max | Min  Max {mA) Max | Max Conditions No. )
! Min " o Max Min  Max ‘ ax Min  Max .
BF254 To92 | 30 20 5 100 20 67 220 1 10 065 0.74* 1 0.34 1 35 7 a5 =
(98) 6 12 7 z
BF255 To92 | 30 20 5 100 20 36 125 1 10 065 0.74* 1 034 1 35 7 46 -
(g8) 6 12 7 . ‘
BF257 To39 | 100 100 5 50 100 | 25 30 10 1.0 065 0.74* 30 034 1 35 7 48 0]
6 12 7 m
BF258 TO39 | 250 250 5 50 200 | 25 30 10 10 065 0.74* 30 0.34 1, 35 7 48 =
6 12 7 S
BF259 T0-39 | 300 300 5 50 250 | 25 30 10 10 065 074* 30 0.34 1 35 7 48 3
6 12 7 =
BF457 TO-126] 100 100 5 50 100 | 25 30 10 10 065 0.74* 30 0.34 1 35 7 43 o
6 12 7 -
BF458 TO-126| 250 200 5 50 200 | 25 30 10 1.0 065 0.74% 30 0.34 1 35 7 48
. 6 12 7 8
BF459 T0-126] 300 300 5 50 250 | 25 30 10 1.0 065 0.74* 30 0.34 1 T35 7 a8 oot
6 12 7 N
BFX13 J0-18 | 20 15 5 50 15 10 100 2 0.2 0718 1 6 | 150 10 10 8 66 0
50 250 10 0.35 0.25 07 09 10 eyl
18 1 2 15 15 100 m
BFX29 TO5 20 15 5 50 50 | 40 150 10 12 | 100 50 150 9 63 ;1
50 50 10 04 13 150 ' —
50 10 10 09 30
40 1 10
20 0.1 10 .
BFX30 T05 65 65 5 50 50 10 150 0.4 12 290 4 63
20 50 04 09 30
50 200 10 04 13 150
40 1 0.4
BFX37 TO18 | 60 60 ) 20t 50, | 100 10 5 0.4 10 50 |6 |40 05 3 1 62 \‘
100 1 5 - 1
0.85 0.1 5 0.25 09 10 W
70 300 001 5 . hd IV
BFX65 TO-18 | 45 45 6 10%. 40 100 10 5 0.25 09 10 | 65 3 1 62 \ @
’ 100 1 5 . . . o
100 0.1 5 . . O
. 40 0.01 5 Nlw
(%1
TEST CONDITIONS: wn
(11 1 = 200 pA, Vgg = 5V, f = 1 kHz. (2) Ic = 100 mA, Vo = 20V, 15" = 1g2 = 5 mA. (3) Ic = 200 #A, Vgg = 2V, = 1 kHz. {4) Ic = 100 mA, Ve = 10V, 1g” =|32=10mA {8) Ic=10mA, Vg =3V, |+
15! = 152 = 1 mA. (6) I¢ = 100 kA, VcE = 5V, f = 1 kHz. {7) I = 1 mA, Vg = 10V, £ = 200 kHz. (8) Ic = 1 mA, VgE = BV, f = 1 kHz. (9) Ic = 150 mA, Vec = 6V, 1g1 = 12 = 15mA. (10) I = 10 A, | ™
Vee =5V, f=WB. .
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